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The scatterplot shows the relationship between Y
two variables, x and y.
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A -’k‘ What is an equation of the graph shown?
A) y=-2x—8
Which of the following equations is the most
appropriate linear model for the data shown? B) y=x-8
A) y=09+9.4x Cj mx+ ' ol
B} y=09-94x g T D) Yg "
~1
C) y=94+09% sl 0/4
(D) y=94-095
\ -/
IfE = whatmthcvalue@
: n
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2,50 + 5r = 80 ; Yo
The given equation describes the relationship | .)5
between the number ofbirds, b, and the numberof | 35 ~Z
reptiles, 7, that can be cared for at a pet care business | - x

on a given day. If the business cares for(16 g e\p@o

a given day, how many birds can it care for on this

day? - Yo
9.5 b L5167 =1 (Ve TR
3 / 6x +y = 72
C) 40 The solution to the given system of equations is
(%, ¥). What is the value of y ?

D) 80 @
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Line i‘lnther\pl’ hasaslopeof—; and passes

through the point (9 10) Which equation defines

o
line £ ¢ ﬂ:ml

>4) y= 13x—§
“B)_y = 9x + 10

o 94, [o= ¥
3 =
@y=—§+13
1951 +5 =196 2 2435

The function f(x) = 206(1.034)* models the value,
in dollars, of a certain bank account by the end of
each year from 1957 through 1972, where x is the
number of years after 1957. Which of the following is
the best interpretation of “f(5) is approximately

equal tc t‘m this context?

A) The value of the bank account is estimated to be
approximately 5 dollars greater in 1962 than in
1957.

The value of the bank account is estimated to be

approximately 243 dollars in 1962.

C) The value, in dollars, of the bank account is
estimated to be approximately 5 times greater in
1962 than in 1957,

D) The value of the bank account is estimated to
increase by approximately 243 dollars every
5 years between 1957 and 1972,
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"% [t must increase by 24.5 units.
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For a certain rectangular region, the ratio of its
length to its width is 35 to 10. If the width bf the
7 units, how must the

rectangular region increases by
leno maintain this ratio?
o
o
“ﬁf\ [t must decrease by 7 units. 55 %
D) It must increase by 7 units. ) 3

&) It must decrease by 24.5 units.
3512 - 2y. 5

]o

Square P has a side length of x inches. Square Q has
a perimeter that is 176 inches greater than the
perimeter of square P. The function f gives the area
of square Q, in square inches. Which of the following
defines f ?

5 = M4d
@f(x)=(x+44)2 A Y

B) f(x) = (x + 176)°

Sz W+
C) f(x) = (176x + 44)*
D) f(x) = (176x + 176> L ~ S
= (vu+ 7(\1
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2% 3.\
=3 Jw+ 19 @mangle has sides of length 2+/2, 642, and
7y 8 : J_umts Whatlsth-ft.he e, in square

The given equation relates the distinct positive real
numbers w, x, and y. Which equation correctly
expresses w in terms of x and y ?
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A) w=J§—19 " L/
B) 25 a1 2\¢_19=w
14y (/)
. )
2
Kﬁ) ’(C\@w [ ] .
/ = J -
) D) [2&2 9 X 204
W=\|7"7"—"| — L.
14
$ sl 5
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<0
Pom@m the center of a circle. The measure of
arcRSonthlscl.rclelsl()O°

is the measure, in
degrees, of its associated : ROS 9y

The expression 6% 3+ Vst' is equivalent to ax’,
where @ and b are positive constants and x > 1.

What is the value of @ + r H
5 5 4 A +
§ -3 3 % %

wS 4!
g/*i -qs.I'ZS
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The expression 4x* + bx where b is a constant,
can be rewritten as (hx + k)(x + §), where h, & and j
are integer constants, Which of the following must

be an integer?

- b Y T - -75
h <
b

B) P
45

C) 7
5
K
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y = 2x*-21x + 64 In the xy-plane, a parabola has vertex (9, —14) and
y=3x+a intersects the x-axis at two points. If the equation of
In the given system of equations, a is a constant. The the parabola is written in the form y = ax” + bx + c,
graphs of the equations in the given system intersect where g, b, and ¢ are constants, which of the
:; “v:lcﬂ)’ °%P°im> (x, ), in the xy-plane. Whatis | following could be the value of @ber?
e value o s X .
A) -8 s \"4\_23 4 > -
C) -14 g. K (%9
o’ g ,
D))-12 & _M
D) 8 a ) ( )
: XD - T
/Y
a2+ C §Y /N -
A‘/ S’,.-\-
LY
2 YIS §
25 )R L=
An isosceles right triangle has a hypotenuse of length Function f is defined by f(x) C/+ _!Q»‘here a
58 inches. What is the/perimeter, in inches, of this
triangle?
A) 292
B) 5842

@58+58-»/2T

D) 58 + 11642

Do not turn to any other module in the test.
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The line graph shows the estimated number of
chipmunks in a state park on April 1 of each year
from 1989 to 1999.
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Year

Based on the line graph, in which year was the
estimated number of chipmunks in the state park the
greatest?

A) 1989
B) 1994
C) 1995
D) 1998

Esmnat:ed n

Aﬁshswamadmtance(l%@ How far did
the fish swim, in miles? (1 mile = 1,760 yards})

A) 03 f\g/ow
2.9

C) 3,344 l)(§/o = 24
D) 6,864 )’Mo
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A) 74°
) 7% 3 o
B) 17x°
C) 7x°
> = 56
D) 17x° @ n(o—5" >
3
—~ (7) — SE
X+ y)=
Sy =X
What is the solution (x, y) to the given system of
equations? 1808 = 1 Bogas
A W
(A)@15,3) R, o
B) (16,2)
C) (17,1)
D) (18,0)
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The point (8, 2) in the xy-plane is a solution to h(x) = x*-3

which of the following systems of inequalities? (1)2=3 =<2

. Which table gives three values of x and their
A) x>0 corresponding values of h(x) for the given

B) x>0 \7{| l | -
y<0 h(x)
y>0 h(x)

et 74_
<0 h(x)

h(x) -2 1 3
6
|x-5| = 10 .
What is one possible solution to the given equation?
7{_/5:,/0 . 4 —SC_/O : n
3 5 = = The function f is defined by f(x) = 270(0.1)*. What
@ is the value of f(0) ¢
: B) 1
C) 27 = o
Z
270
flx) =7x+1 @

The function gives the total number of people on a
company retreat with x managers. What is the total
number of people on a company retreat with

7 managers?
—;1(—1\ 4/J
=(D°
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